<o @> (rad)

< 00, > (M)

RatioI

<opyp, > ()

Ratio

o
[N

e
[
ul

< o cot(y) >

.........

o
N

|
=
[

-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_mKkFit_baseline
—e— DQM_mkFit_baseline6iter
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

100

: EE TR 5 5 : 5
8OF {5 {4+ [t e S| | R .| RS

o A F X : : :
60F YRR B | B SO SO it

r . o) r : . . .
a0f- : T S | TR S S | A1 £
20F- : 20 MBI + g F
~20F- ~: ~20f- 1 HET %l
1 REHA :' oI T
4 1
-80F —80F---[ 4 feseennns
1005"""""""'""!""I"" .9—1005""!""i""!""!""i""
Laf- ; 5 ET

3 E T ooF
1.2_— g o

: ; 0.8

1-- ¢ v 44 v v bt - daddd - - - 0 7: : : : : :

-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

5: . . "
i .
A S
2k ff-3eoeee poeee [ 3
* ------- o i
OF Ui H'M‘"’“’ '
—1;— - T -2 - - Peeees nis
oA T :
—3;— sl ------- : -
4 -----------
_55. I | .! L | |
1.4 ik
l.ZE—'
- L A

TP n (PCA- to beamline)



	Contents
	Page 1


